2N

A
A FMBYE 0UI|Y HE(SYHSLL/HS S £)
TR MAF DIBEAIE =5 (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= ohF 2 0t 24,440,770 30,540, 141 A6,099,371
= 3,975,600
& 13,449,000
< 7,016,170
JHAA= HYIIE &S (=SolLaH/oH 24 &= 23,412,698 28,401, 141 A4,988,443
= 3,975,600
& 12,699,000
< 6,738,098
A DIBHAIE &S 2,867,110 7,705,374 A 4,838,264
= 1,159,600
& 300,000
< 1,407,510
HIHHY REXH(Z1) 683,420 685,850 A 2,430
= 599,600
< 83,820
403 UHXISHHSA=0l& 683,420 685,850 A 2,430
= 599,600
< 83,820
01 X ESHHMA=LE L 599,420 599,850 A 430
odZaiod 2= 599,420
= 557,600
< 41,820
02 S| 2SO0l CHEHCHE AL Bl 84,000 86,000 A 2,000
OHCHH & AEHZ AL 84,000
= 42,000
< 42,000
ngoie RAE 460,000 690,000 230,000
401 AIEHIZL 20 410,000 390,000 20,000
01 A& tl 410,000 390,000 20,000
oxNgHg B+ -2 410,000
403 XA SA=0l& 50,000 0 50,000
01 HXSHMA=2E X 50,000 0 50,000
OXNgAHE AZE2LF 50,000
HEZEFHEHE 590,000 518,134 71,866
403 MHXISHHE X201 E 590,000 518,134 71,866
01 XM A=2EER 590,000 518,134 71,866
OEAIHESHE =4 260,000
ONEONEFH FHI 130,000
OEZEF=0EIME XA 200,000
Aoy Moy SO 134,404 578,904 A 444 500
202 o4dl 12,904 12,904 0
01 = LH o4 1l 12,904 12,904 0




S AUE B
Bu: ZMYE oDy S (SEHSSM/HYS z)
Chel: M JIBHAIA B E (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O¢IZoHo e Mad S 12,904
403 UHXISHE X201 & 121,500 566,000 A 444 500
01 X SHHXN2E= 121,500 566,000 A 444,500
O=JtAt2l =00 At 40,000
OBXHLAMAEIXA 31,500
OM3sIHgelod L3 A 50,000
MEBHESHT? ANEAIE(2D) 564,286 627,486 A 63,200
= 500,000
< 64,286
403 MHXSHHSA=0l& 564,286 627,486 A 63,200
= 500,000
< 64,286
01 XM A=LE L 564,286 627,486 A 63,200
OMEHE 7 AEES 564,286
= 500,000
< 64,286
ANgogAasd(=21) 375,000 0 375,000
& 300,000
< 75,000
401 Al HIZ 201 I 375,000 0 375,000
& 300,000
< 75,000
01 A& HI 375,000 0 375,000
OXZgoeAd(zd2eld) 375,000
= 300,000
< 75,000
floid=s 2 M 60,000 75,000 A 15,000
= 60,000
403 Ut S E X201 H 60,000 50,000 10,000
= 60,000
01 AXSHHMA2E = 60,000 50,000 10,000
OodfItel P HMAH 60,000
= 60,000
Jzsog =4 10,269,884 10,285,763 A 15,879
= 2,456,000
& 4,850,000
< 2,963,884
HOFHE MAA 2el 754,004 571,004 183,000
202 Odl 9,004 9,004 0
01 = LHO Yl 9,004 9,004 0
OO RAZTHAIY =& 9,004
403 tXSHHE =01 & 745,000 562,000 183,000
01 X SHMA2EE 745,000 562,000 183,000




LR
%

A FMBYS 0UIIY HE(SYHYLL/HS LM - 01F)
ol Jl2so |4 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

OdlE= AHIMAIZ 115,000
OEJteldl M & A 100,000
Ol H LA EHX & 90,000
OU=SHETFLEIR = 100,000
O20HAMA sMHExH 300,000
Otfl=sa2A4E X 40,000

FEY 0723 NY(21D) 8,000 8,000 0
=2 6.000
< 2,000

403 Ut SHHSA=0l& 8,000 8,000 0
= 6,000
< 2,000

01 RXISAE 2 E 8,000 8,000 0
OXSHO P "NUCRE" 2SN 8,000
=2 6,000
< 2,000

AIBAHZ=AIE (=) 3,750,000 3,750,000 0
& 3,000,000
< 750,000

401 Al HIZ 201 I 3,720,000 3,720,000 0
& 2,976,000
< 744,000

01 A& HI 3,709,875 3,709,875 0
OSUH=AIE 3,709,875
= 2,967,900
< 741,975

03 AIE 2 THHI 10,125 10,125 0
OUSUHEAIE ALY =& 10,125
& 8,100
< 2,025

403 MHtXISHHS A= 0l& 30,000 30,000 0
& 24,000
= 6,000

02 3|23 0l CH SHCH 2 At HI 30,000 30,000 0
OABH=AE HIIXZA 30,000
= 24,000
< 6,000

H=ozzel(=2) 375,000 575,000 A200,000
= 300,000
< 75,000

401 AIEHI L 2 CHEI 375,000 375,000 0
= 300,000
< 75,000

01 A& tl 372,300 372,300 0
OWH=NE B2 372,300




SN AR
HMa: AWML OIlY HE(SWLSL/HSES z)
©el: Jl2s0Y |4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
& 297,840
< 74,460
03 Al S THHI 2,700 2,700 0
o=z Ex=2Z 2,700
= 2,160
< 540
Bt 4 (=1) 840,000 840,000 0
& 800,000
< 40,000
403 A X EHHS =0l A 840,000 840,000 0
& 800,000
= 40,000
01 X HHMA=LE L 840,000 840,000 0
Otttt==4 840,000
& 800,000
< 40,000
SUZTRHL LI AL (=) 714,880 1,085,000 A 370,120
& 650,000
< 64,880
207 O H] 10,000 0 10,000
01 284 10,000 0 10,000
MBI RIA A 10,000
403 XIS E X201 H 704,880 1,085,000 A 380,120
& 650,000
< 54,880
01 X SHHXN2E = 704,880 1,085,000 2380, 120
O==&ZSEMY L= 704,880
& 650,000
< 54,880
FABIYUR FUTA(FTD) 143,000 143,000 0
= 100,000
< 43,000
403 A X EHHSH=20IA 143,000 143,000 0
& 100,000
< 43,000
02 S| 2 S0il CH&HCH & A B 143,000 143,000 0
O+=MZSRMYYFT SUZA 143,000
= 100,000
< 43,000
of & YAIEHR =4 500,000 633,759 A 133,759
403 UtXISHH S0l & 500,000 633, 759 A 133,759
01 X SHMA=2EE 500,000 633,759 A 133,759
Oodllaf MEE A 500,000
HAEZHHLE A E 1,300,000 1,300,000 0




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

= 1,000,000
< 300,000

403 MtXISHHE X201 & 1,300,000 1,300,000 0
=2 1,000,000
< 300,000

01 XM A=2EE 1,300,000 1,300,000 0
Oollst SEHLE HE 1,300,000
= 1,000,000
< 300,000

Hardadxd 1,365,000 390,000 975,000
= 1,050,000
= 315,000

403 Ut S S X201 & 1,365,000 390,000 975,000
= 1,050,000
< 315,000

01 X HHMA=ZLE L 1,365,000 390,000 975,000
Oofadalsd =4 1,365,000
= 1,050,000
< 315,000

A AN E S LA AIE 520,000 0 520,000
2 400,000
< 120,000

403 MtXSHHSA=0l& 520,000 0 520,000
2 400,000
< 120,000

01 X SHMA=2E X 520,000 0 520,000
OAN 2ol Satal A4 520,000
= 400,000
< 120,000

SEAME =8 2 =442 XML 10,275,704 10,410,004 A 134,300
= 360,000
2 7,549,000
< 2,366,704

FMUE REANLHE(RD) 548,000 0 548,000
= 360,000
< 188,000

403 MtXISHHE X201 E 548,000 0 548,000
= 360,000
< 188,000

01 XS M A=2EE 548,000 0 548,000
Ox=¢ttE ABZTAIE HA 468,000
= 360,000
= 108,000
O=xttE ARE ABFALE XA 80,000

S E RSHH HE XJ(212) 4,072,500 4,160,000 A 87,500
& 3,525,000




LR
%

A FMBYS 0UIIY HE(SYHYLL/HS LM - 01F)
S REAL X4 U 242 IIRD CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 547,500
403 MHXISHHE X201 E 4,072,500 4,160,000 A 87,500
& 3,525,000
< 547,500
01 XM A=2EE 4,072,500 4,160,000 A 87,500
Ox=&t=E RS=FdH 1,592,500
= 1,225,000
< 367,500
OitE SERSHHAHE 2,120,000
2 2,000,000
< 120,000
O=¢&=2 HIHEAE 360,000
& 300,000
< 60,000
=42 B . RSIIBAIE & HZHA 364,004 274,004 90,000
201 Let24d] 15,000 25,000 210,000
03 A2 S HI 15,000 20,000 A5,000
O=LAS HAHSHA S 15,000
202 O4dl 9,004 9,004 0
01 = LH 4 bl 9,004 9,004 0
O=x4E IIE - RSIIBAIE & B2OHH 9,004
207 RO 85,000 30,000 55,000
01 2339 85,000 30,000 55,000
Odfsr DAIHE Z2HME FA 60,000
O==&AS MASHHE 25,000
307 eI+l & 125,000 105,000 20,000
02 QIZtFAEXZ 125,000 105,000 20,000
O=¢t=2 ZUHAHISTE#A XA 55,000
OHAAZ IHH X2 70,000
403 UHXSHHSA=0l& 130,000 105,000 25,000
01 HXSHMA2E X 130,000 105,000 25,000
Ox=dtE =M SFHE N 30,000
OOISU23ldE AN 100,000
MEINSHHEH(2) 4,931,200 3,256,000 1,675,200
= 4,024,000
< 907,200
403 XIS H S K= 0l & 4,931,200 3,256,000 1,675,200
& 4,024,000
< 907,200
01 XM A=LE L ,931,200 3,256,000 1,675,200
O=4&2 LXINSAIE 3,697,200
= 2,844,000
< 853,200




SH: MEHY
A FMBYS 0UIIY HE(SYHYLL/HS LM - 01F)
S REAL X4 U 242 IIRD CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=¢&2=2 XM MEAE 234,000
= 180,000
< 54,000
o422 SSIHSA4E sliist 1,000,000
& 1,000,000
YT o=l 2 Fol 360,000 270,000 90,000
403 UHXSHHSA=0l& 360,000 270,000 90,000
01 XM A2E X 360,000 270,000 90,000
OHE R o=y AIEXE 360,000
Of AL MIIBE R = (A H 2 ) (S 2ol 2= 4 /oll 2= 975,000 2,115,000 21,140,000
& E)
& 750,000
< 225,000
HE MEI|8t &35 975,000 2,115,000 A 1,140,000
= 750,000
< 225,000
HEog=sgast 24(=22) 975,000 585,000 390,000
= 750,000
< 225,000
403 A X EHHS 20l A 975,000 585,000 390,000
& 750,000
< 225,000
01 X EHHMA=ZLE L 975,000 585,000 390,000
OASKF HEHS 22 975,000
& 750,000
< 225,000
HE2AZH (A (JIEH/IIE) 53,072 24,000 29,072
Jl= &l 53,072 24,000 29,072
EM2E Jl=Z 53,072 24,000 29,072
201 Let249] 15,000 12,000 3,000
01 At 22l 15,000 11,850 3,150
ORAM2Y AtR2el] 15,000
202 044l 28,872 12,000 16,872
01 = LH o4 1l 28,872 12,000 16,872
ORANE2Y =UHAHH 28,872
203 YR =&t 4,200 0 4,200
04 FANSEHE=LH 4,200 0 4,200
©302! Ol ot 350,000 = 12& 4,200
405 TtabH S| 5,000 0 5,000
01 AL EZFH S 5,000 0 5,000
O RHeHH S H| 5,000
OTv(2Ch) 3,000




SN AUFBDY

M HHE2HAH (= 20 (I1EHIIE

& 123l (&)
= - — SHE|

SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2

O2l Xt (1074) 1,000
O=AILel(10h) 500
OUXI&3toiet(1Ch) 500




